OPERATING AND INSTRUCTION

MANUAL FOR

MEDIUM DUTY SPINDLE MOULDER

TYPE
BER 2

Wadkin
BURSGREEN

T: 0116 2769111
F: 0116 2598138




MEDIUM DUTY SPINDLE MOULDER

CONTROL LEVER

Diameter of top piece {Standard)

Optional diameter of top piece

Size of table

Speed of spindle

Rise and fall of spindle

Table height

Twe circular table plates glve openings of
Size of fence plates

E, P, of motor (3 phase)

H, P. of motor (1 phase)
Speed of motor

Floor space

Approx. nett weight

Approx. gross weight
Approx. shipping dimensicns

TYPE BER.2.

FIG, 1.

SPECIFICATION

in
gd
At 1t
2,1

3om x 36"

g
3agm

6, 5/3", E%nr’ z%n
14" x 43"

30" x 36"
510 1b

872 1b
30,8 cu. it,

27.max

4,500 and 7, 000 rpm

3 {Standard)

4 {Optional extra)
3

3,000 rpm

SPINDLE RISE & FALL

HANDWHEEL

30mm
20mm, 25mm
760 x 915mm

T5mm

BS0mm:

170, 80, T0mm
356 x 115mm

760 x B15mm
230 kg

"8




2.

INSTALLATION

Remave pratective eoating from bright paris by applying a
cloth soaked in paraffin, turpentine or other solvent,

MAINS
e
_I.LI ILZ L3

3 PHASE WRING DIAGRAM

AG.2.

_u B e
I
START  STOP ,-"'::
L
i
[i] RUN n Y
L o o A 8 Lic
REMOTE LEVER TRIP ———
CONTROL % MOTOR
FIG.3,

WIRING DETAILS
—_—

The motor and control gear have been wiredin before despatch,
all that is required is to connect the power supply to the starter
or isolator when fitted.

Paoints to note when connecting to power supply :-

1. Check that the voltage, phase and frequency correspond to
those on the motor plate, also the correct coils and heaters are
fitted to the starter,

2. It is important that the correct size of cable is used to give
the correct voltage at the starter, Too light a cable will give a
voltage drop at the starter and may damage the motar,

3. Check the main line fuses are ol the correct capacity, See
listbelow. When anisolator is fitted, the fuses are of the correct
capacity ae received.

4. Connecttheline leads to the appropriate terminals. See fig,
2 for 3 phase supply and fig, 3 for 1 phase supply.

. Check all connections are sound,
6. Check the rotation of the motor for the correct direction, It
this isincorrect, reverse any two of the line lead connections for
3 phase supply.

Voltage Fhase H.P. 5. W, G, Tinned Amps
opper Wire
220 3 3 21 29
380 /420 3 3 23 20
550 3 3 24 17
200,220 1 3 15 78
230/250 1 3 17 65
220 3 4 19 38
380,420 3 4 22 24
550 3 4 23 20
01l racks *EEH_? ol olvid pin
we

Ol rire & fall
worm weekly

rease both
ends of epindle
one shol par

Dwenk.

Grease both ends
of motor 2 turns
PET VEar,

Grease control
cable weskly

FiG. 4.

LUBRICATION

1t is advisable to keep all bright parts covered with a thin
m of oil to prevent rusting,

TYPE OF OIL RECOMMENDED
TYPE OF GREASE RECOMMENDED

POWER EM125
SHELL ALVANIA 3

TYPE OF GREASE RECOMMENDED CASTROLEASE
FOR BRAKE CABLE BRAKE CABLE
LUBRICANT

FOUNDATION

See fig, 5§ for bolt positions and clearances required, When
installing the machine level the table by packing under the feet,

Foundation bolts are nat supplied with the machine except
by special order.

27.max



L5B4 papd 7

A TR

|
L
i
nL\z-I{(M M) DIA HOLES _é. {5:?‘:1
A Mo | _./J{!,Ji r
TS .:-ff:m s
Fle 5
D o 85
= [
= .
A
FIG &

BELT TENSION

The machine 18 driven by an endless flat belt froma 3 K. P,
motor mounted on a hingedbracket inside the base of the machire,
A handwheel removes the tension on the belt for changing the
speed of the machine spindle,

To change the speed the undermentioned procedure should be

followed: -

1. Checklhecontrolhandleisin the "free'" positionasdescribed
in the following section,

2, Open Lhe door at the rear of the machine for access to the
pulleys,

3. Remove the tension an the belt by unscrewing the handwheel
"A' in fig, 6. :

4. Select the required speed and re-tensionthe belt by screwing
the handwheel A",

[LLL

[g[

Neeln

FIG T

RISE AND FALL OF SPINDLE

The spindle rise and fall is by means of the handwheel "A"
in g,

The rise and fall of the spindle is obtained through a worm-
wheel on a racked quadrant and has a maximum travel of 3"
{T6mm).

The height of the spindle can be efficiently locked in any
position of its travel by means of the locking lever "3".

Whilst the rise and fall movement of the spindie provides an
immediagie adustment to the cutter helght, further adjustmment
outside the range of this can be effected by re-positioning the
collars er the work spindle,

The spindle should be rotated by hand whilst raising or
lowering the spindle in order o prevent excessive siretch on the
beit,

4. PQSITION CONTROL BOX
The control box ia shown in {ig, '

Position 1

This is marked "run” and is the only control lever position
where the machine can be operated,

Position 2

This postiion 18 marked “{ree'’ when the control lever is in
this position the motor is isolated and the work spindle can-be
rotated by hand, The control lever should bein this positionat
all limmes whenthe machine ignot requiredfor operation to ensure
the machine cannot be started up sccidentally,

This position should alsobe used when setting culler equipment.
Position 3.

This position is marked "brake". Movement of the conirol
lever from the "run' tolhisbrake position automaticully switches
oif the motor and light pressure on ihe lever cperates a very
efficient brake to the spindle.

This position is marked "lock™, Whenihe controllever is in
this position the moter is isolated and the main spindle is locked
to facilitate the removal of the work spindle or cutter equipment
as required. The spindle may require rotatingby hand to ensure
the lock is fully engaged before altempling to change cutler

equipment or the work spindle

27.max




frdum NS,

/
n
-
P
%% a

4
n\- |

WORK SPINDLE INSTALLATION

Befors inserting the work spindle, select which of the three
table ring openings you require. The two removable rings give
hole sizes of 6,5/8", 33" and 27" dia, {170. 80 and T0mm),

To insert the work spindle the undermenticned procedure
should be followed:-

1. Insert the work spindle "A' in {ig. B iito the mair spindle
through the hole in the table top. Great care should be taken io
ensure that the work spindle and main gpindle seatings are
completely free from all burrs, dirt and rust. A thin film of oil
should be put on the work spindle seatinge before inserting. Line
the peg in the work spindle with the slot in the main spindle and
press spindle onto seating,

2. Open access door at the front of the machine.

3, Move control Box Lever to "lock" position as previously
described,

4. Tnsert the spindle drawbolt "B" up the centre of the main
spindle and screw into the end of the work spindle and lock with
gpanner provided,
Note :- Drawbolt thread s right hand.

The spindle {s now ready to receive the cutter equipment as
reguired,

To remove the work spindle the undermentioned procedure
should be followed:-
1. Lock main spindle as previously described.
2, Open access door at the front of the machine,
3. Uascrewthe drawboit "B" and withdraw from the main spindle
4. The work spindle "A" can now be removed hy lifting clear
through the hole in the table

Important

Always ensure al all times that work spindlv is securel. held
by drawbolt before starting the machine,

F1G. 9.

FENCE ADJUSTMENTS

Each fence plate can be independently adjusted by means of
the plastic handwheels "A™, in fig.9, The fenceplatescan be set
to the desired position and locked by the plastic handwheels '"B™,
The front fence plales can be imade either of metal or wood and
are adjustable endwise,

The fence slide bars resl in accurately machined vee groowes
and arg held in position bv the two brass grubscrews on each bar,
If the slide bars become slack adjust the grubscrews "C' by the
required amount and relock in position with the 3/8' whit. locknuts,
The fence plates should be locked both ways at all times when the
machine is in use,

The [ence is fitted with a safety guard and a "Shaw" guardcan
also be fitied il required,

The safety guard is adjustable depending on the section of timber
being worked. This guard is shown in position, in lig, 9. Toadjust
the guard for various sections of timber unscrewthe knurled knot
"D"”, sel to required position and relock the knurled knob D",

To adjust the safety guard in rela-:o7 to the fence plates
unscrew the two ball lever screw "E", position the safety guard
and relock,

GENERAL HINTS
1. TUse sharp cutters, reasonably balanced.

2. Make good robust jigsand ensurethe partsare Jocated securely
on the jig.

J. NEVER runthecutter equipment at hj.;her thanthe recommended
speed.

4. Alwaysusethe guards available to ensure maximum protection,

5. Ensure the cutters are tight on the blocks betore starling up,
Use the spanners provided and never il a piece of piping to get
greater e age, This will strain the nuts andbolts and ultimately
make them unsafe.

6. NEVER packthe cutters with sandpaper. Thisis most dangerous
as the grit collapses, when the cutter 18 working and the cutter
works loose. For packing use one thickness only of thin brown
paper

7. Keep nuts and bolts clean and use oil on the threads.

8. When changing cutter equipment always ensure the machine
control lever is inthe [ree or lock position. If in doubt isolate
Lhe machine electrically,

27 max



Bef No, Part No., No. Off Deacription
1 3 4" whit x 3" long round head screw
2 B-1046/8 1 Small table ring
3 B-1046/7 1 Large table ring
4 4 3/16" whit x ' long socket head grub screw
5 4 3716 whit lock nut
8  D-1046,2 1 Main table
7 4 3/8" whit x 1, 3/8™ long stud
8 4 3/8" washer
g 4 3/8" whit nut
10 84 ADS 1 MEM Starter (3 phage, 3JH. P, &£ 4H. P,
50 cycles)
10 AT3 1 Brook Siarter (3phase, 3 H, P, 60 cycles)
1w ZT3 1 Brook Starter (1 phase, 50 & 60 cycles)
11 D-1048/1 1 Main frame

13

2 wore -

When ordering replacement parts guote
part ng. and serial number of the machine,

27.max

Ref No, PartNo, No.Off Description
12 16 3/8" cadmium washer
13 16 3/8" whit x $" long cadmium hexagon head
bolt
14 A-1037/15 2 Dpor cam
15 2 v wnit x 3/8" long socket head grubscrew
16 A-1024/57 2 Spring for door lock
17T C-1046/17 H Door for bage
18 A-1028/31 2 Spindle for douor cam
19 Fait No, 14 3 2" dia, plagtic handwheel, ' whit
20 4 Carner fillet. for hase
21 C-1046/5 2 Foot for base
22 2 ivnorex 7/8" o/d 3 1 long oilite bosh
23 D-1044 /16 1 Sheet Steel Base




B ot gt DD P e bt bt b e el femd el e 3

SPINDLE HOUSING ASSEMBLY

Description

3/8" whit x 1" long hexagon head bolt

%" whit nut

3" whit x 3" long hexagon head bolt

4" whit x 3/8" long socket head grubscrew
4" whit x 1" long socket head grubscrew
Rise and fall locking stud

Spindle housing bracket

Quill Rise and fail locking shafi

Quill locking handle

14" dia plastic ball 3/8" whit

5/8" whit x 2" long stud

Rise and fall brackel

5/8" whit washer

4" whit x £ lony socket head grubscrew
5/8" whit locknut

Racked quadranl for rige and fall

3/8" whit x 1" long cadmium hexagnn head
balt

NOTE :-

When ordering replacement parls quote

part no. and serial number of the machine.

27 .max

Ref No, Parl Ne. No. Off Deecription

47 A=-1026/2% 1 Collar for rise and {all shaft (without 3/8"
whit hole)

48 A-1028 /65 2 Fibre washer for rise and fall shaft

49 A-1026/29 i Collar for rise and fall shaft {with 3/8" whit
hole)

50 H 3/14" dia x 13" long groverlok spring dowel

a1 1 /8" whit x 3/8" long sockel head grubscrew

52 A-1026 /32 1 Worm for rise and fall shaft

53 B-1046 /44 1 Rise and fall ghaft

54 1 3/16” whit x 1" long groverlok spring
dowel

33 B-1026/8 1 Handwheei

56 A-1028 122 1 Washer for handwheel

57 Patt No. 14 1 2" dia plastic handwheel 3" whit T.R.T.

58 A-5-101 1 Spindle for 3" plastic handle

59 No. 5655-37 1 378" Grip ring circlip ""Truarc"

60 Patt, No.4 1 3" long plastic handle



B
2

SPINDLE ASSEMBLY

tef No, Part No.

No. Off

70
1
72
3
4
5

76
77
78
70
8o
a1
82
83
84

85
86

BT

A-1046/32
A-1046763
A-1046 /31
A-1792/152
A-1045/31
A-1792/152
A-1046/31
A-1792/152
A-1046/31
A-1702/162
B-1046 /30
B-1046/05

B-1048/80
A-1046/23
6208, C50

C-1046,22

EPL.58

B-1046/25
B-1048,/7%
A-1046/29

1
1
1
1
1
1
1
1
L]
i
1
1
1
1
1
1
]
1
1
1
1
1
1
3

H.O.L{"B.5.F 2

Description
Spindle nut (1" spindle)
Spindle nul { I0mm spindle)
1" Spindle collar (13" bore)
6mm Spindle collar (30mm bore)
4" Spindle collar (13" bore)
12Zmm Spindle collar (30mm bore}
1" Spindle collar (13" bore)
25mm Spindle callar (30mm bore)
13" Spindle collar (13" bore)
38mm Spindle collar (30mm bore)
14" dir. work ppindle
30mm dia, work spindle
5/32" dia x 5/8" long groverlok spring dowel
4" dia x 5/8" long groverlok spring dowel
Spindle drawbolt
Spindle top locknut
5,K. F, Bearing
Main Spindle
5/16" wide x {" thick x 4.3/8" long key
EMO, Pre-load waved washer
50 cycle apindle pulley
60 cycle spindle pulley
Spindle pulley locknut
+" whit x " long socket head countersunk
screw
Grease nipple straight type

H
P

@%D

2

[k ] ne

@.T
s\ﬂ

5y

Ref No. Part No, No.Off Deseription
as B-l046/6 1 Dusteap for Quill
B9 1 " whit x 3" long hexagon head bolt
80 A-1048/28 1 Rige and fall peg
91 C-1046/ 4 1 Spindle Quill
02 C-1046/10 1  Brake housing for Quill
a3 3 1" whit x 3" long countersunk screw
g4 B-1048/28 1  Brake drum
95 2 5/16" whit x }" long hexagon head bait
96  B-1046/21 1  Band brake
a7 A-1046/37 1 Pin [or spindle lock
98 z #" bore x 5/8" o/d x 3" long oilite bush
99 1 7" whit x 3 long socket head grubscrew
100 A-1046/ 38 1 Link for spindle lock
101 1 4" whit x 1" long balt
102 1 Meteor flat helt 221" long x 1" wide (3 phase,
50 cycles) \ “Z
1 each Meteor flat beﬁd'g‘i:mg?;?' widew‘aﬁd ‘;‘.M_’
long x 1" wide (1 phase, 50 cycles)
1 Meteor flat belt 211" lang x 1" wide (2 phaae,
4 H.P. 50 cycles) KS I OmuCh
1 Meteor flat belt 243" long x 1" wide (3 phase,
64 cycles)
103 2 i" B, 8. F, nut
104 A-1046/ B 1 Mipple for brake
105 A-1044/69 1 Spring lor brake cable
108 B-1046/ 75 1 Cable assembly
Ref No. Part No. No.Off Description

110 B-5-1-B 2 378" whit ball lever screw
111  B-1782/133 1 1" x §" Filboe

112 D-1752/60 1 Ring [ence column

113 2 %” whit x 13" long hexagen head bolt
114 2 " whit washer

115 1 9/8" whil x 3" lang aquare head holl
116 C-1045 /59 1 Brachket for ring fence column

117 A-1039 /54 1 Ring fence arm

118 D-1782/ 56 1 Ring fence

NOTE:-

When ordering replacement parts quote
part no, and serizl number of the machine,

27.max




MOTOR MOUNTING ASSEMBLY

Ref No,

Part No.

No. Off

Description

120
121
122
123
124
126
126
127
128
129

130

131
132
133

134

Peit No. 14

A-1046 /83
A-1046,87
A-1046/48
B-1M46/14

B-1046 /13

B B RD e e

"
T X

[

2 dia plastic handwheel 3" whit T.R.T.
3" washer

Spring for bell tension

Biud for motor tengion

Motor pivot shaft

‘Bracket for belt tensioning

3/8"” whit x 1" long socket bead grubscrew
1/8" gas x " long socket head grubscrew
Motor 'pulle!

378" whit x 1" long cadmium hexagon head
bolt

3/8" cadmium washer

5/16" whit x 1" long hexagon head bolt
3/18" wide x 2" long key

3/8" whit x 11" long cadmium hexagon head
bolt

3/8"™ wht x 3" long countersunk screw

126

A

=
&

When ordering replacement parts quote
part no. and serial number of the machine.

0]
L
) T.I
k\!,' =
® 137
130
134
136
135
NOTE :-
Ref No, Pari No. No, Off
135 1
i
1
1
136 C-1046/88 1
C-1046/178 1
c-1036712 1
137 4
138 D-1046 /80 1
139 A-1002/52 1
140 1

27 max

Description
Brook motor, M66,3,000 R, P. M, 3 H,P.
T.E,F.C, foot mounted {J phase 50 cycles)
Brook motor, M6, 3,600 R, P, M., 1 H,P.
T.E.F,C. foot mounted {3 phase 60 cycles)
Brock motor, T 184, 3,000 R.P. M, 3 H, P,
T.E.F.C. oot mounied (1 phase 50 cycles)
Brook motor, 801, 3,000 R,P.M, 4 H. P,
T.E.F.C, foot mounied {4 H,P,, 3 phase,
50 cycles)
Motor platform for M86 molor
Motor platform for 184 motor
Motor platform for 90L, motor
3/8" whit cadmium nul
Motor pivol brackel
Retaining washer
3" whit x 1" long hexagon head bolt



E ASSEMBLY

Rel No. Part No. No. Off Description Ref No. Part No. No. Off wescription
150 A-1028/59 1 Knurled knob for guard 165 A-1046/55 2 Fence rack bar
151 -1 3/B" washer 166 D-1048/48 1 Adjusting fence frame
152 1 3/8" whit x 1" long stud 187 A-1029/41 2 Fence adjusting pinion
153 B-1046/56 1 Shield for guard casting 148 z 5/18" bore x I o/d x 3" long vilite bush
154 1 3/8" whit x 3/8'" long socket head grubscrew 169 Pait, No, 14 2 2'" dia plastic handwheel 5/16" plain bore
155 B-1046,/52 1 Guard caaling for adjusting fence 170 6 3/8' whit spring washer
156 D-1046/50 1 Cover for adjusiing fence frame 171 -] 3/8" whit x 1" long socket head cap acrew
157 B-5-1-B 1 3/8" whit hall lever screw 172 B-1046/54 2 Fence {ront plate
158 A-1046/56 1 Arm for g'uard casting 17 B-1046/61 1 Right hand fence front adjuating brackel
159 2 $" whit x 53" long hexagon head bolt 174 B-1046/51 1 Left fiand fence front adjusting bracket
160 Patt No, 32 2 ’1"' dia, plastic handwheel 3/8" whit s 175 - 2 3/8™ whit x 1" long hexagon head bolt
161 4 378" whit locknut 176 2 /8" whit % 1§ long stud
162 4 3/8" whit x 13" long brass grubscrew 177 2 378" whit wingnut
163 2 3/8" whit x 13" long braEB atud
164 2 " washer

e 84 g CONTROL BOX ASSEMBLY

Hol Mo. Pari No, R, Off Deseription
L 180 1 i whit meTotight mu
2

" wmsher

Bruks swivel pin

. 181
j 182 A-1046/33
" j 183 4 ' whit x $* long hemagon head bolt
] 184 I 348" whit nut

185 2 316" washor

186 2 3/18" whit x 13" long countersunk head serew

187 B-1046 /20 1 Instrucl:on plate for control box

' 188 4 3 whit x 3 long round head screw
1 189 A~1046/40 1 Contrul handle
o 1

1
1
1
1
1
1
2
l
1
1
|

130 B-1046/18 Cover for control box

- 181 B-1048/75 Cable assembly

"D ™ 192 cC.y.w.2 Burgess micro swilch
, 193 C-1046,18 Conirol box
194  A-1046/84 Spring for handle
195 3" whit ¥ 13" long hexagon heug oolt
198 A-1046/84 Brake top anchor plale
147 4" whit x 3/8" long socket head grubscrew
NOTE :- 198 B-1046/15 Yoke for hrake
199 A-1048,35 Brake pivot pun
When ordering replacement parts qupte 200 3" whit x " long socket head grubscrew

part no. and serial number of the machine. 201 Part No. 28 14" iz plastic ball, 38" whit

27 max




213

24

226 225 218
L
\_.____‘-_‘_J——zn
Ref No. Part No. No, Off Description Ref,No. PartNo, No, Off Description
210 D-1792 /108 3 Shield for canting ring guard 220 C-1046/50 1 Foot for ring guard
211 1 3" whit x 3/8" long socket head grubscrew 221 D-1792/111 1 Pivot bracket for canting ring guard
212 H 1" whit x 3" long cheese head screw 222 1 " whit x 1%" long stud
213 D-1782 /113 1 Arm for canting ring guard 223 D-1782/112 1 Pivot pin for canting ring guard
214 D-1792/114 1 1" x 1" {ilboe for cantlng ring guard 224 2 3/8" whil x 1" long coachbolt
215 B-S-1-B 2 3/8" whit ball lever screw 225 Pati. No. 14 1 3" dia, plastic handwheel, 4" whit blind
216 D-1702 /60 1 Ring guard column 226 3 3/8" washer
217 2 % whit x 14" long hexagon head balt 227  A-1029/59 3 Knurled knob for guard
218 3 5" washer 228 1 3/8" whit x 1" long stud
218 1 3/8" whit x " long square head holt 229 1 Top piece for canting ring guard

HA

Ref No. Pari No. No. Dff
* 240 A-1046 '57 1

241 B-§-1-B 3
242 D-1792 /65 1

243 No. 8 4

244 4
- 245 [-1792./45 2

248
RD_ASSEMBLY (EXT

Description

Shaw guard cantliever arm

3
]
]
3
]

3

/8" whit ball lever screw

* x 1" filhoe

" long black jappaned round head screw
/16" washer

Shaw guard pressure spring

Rei, No.

D-1792/110

Part No.

No. Off

246
249
248
249
250

27.max

D-1782/44
- A-1038/14
« A-1046 58

— p3 B8 8

Description

5/18" spring washer

5/16" whil x 3" long hexagon head boit
Wood shoes for shaw guard

Fronl pressure bracket for shaw guard
Shaw guard top pressure bar



EXTRA

EQUIPMENT I,

GUARDS & FENCES.

SHAW GUARD :- This guard provides top and side pressuresand
ensures salely in operation for use with the standard fence or as
effectively with the ring fence for curved work.

RING FENCE: - This fence is [or use on all types of curved work.

SAFETY GUAHRD :- This guard has adjustable flaps and is for
use wilh the ring fence and completely covers the work spindle
and culter equipment, The guard swings away for ease ofaccess
when seiting the cutters,

27.max

ATTACHMENTS,

SLIDING TABLE TENONING ATTACHMENT :- This can be
quickly adapied for 2 variely of Tenoning operalions, The maxirmum:
alze of Hmber whichcanbeadmilted i810" wide x 3" deep (254mm
x T6mm), Using two 5" dia, (12Tmm) cutterblocks tenons up to
2 long (50mm) can be cut in one pass, This attachment can also
be used [or other operations such as halﬂmi . corner locking
and for short panels and caps which are ::El o hold by - hard,
U?‘mg o 4" dia. (10imm) Mush mounted cutterhead (anons up to
45 long (113mm} can be cul at two passes by turning the Limber
over,

OVERHEAD TYPE TENONING ATTACHMENT :- When used in
conjunction with the sliding (able altachment and4"dia. (101 mim)
flush oounted cutterheads, fenons up to4}1"1117 mm) long can be
cul in one pass and 6" (152 mm) long in two passes. This
attachment igaaesll contained unit with a 2'H. P, mator and. flat
belt drive to the spindie, Tt cin be gulckly offset in relationtothe
machine spindle for unegual Lenona,




12.

DOVETAIL ATTACHMENT TYPE EE:- For boardupto 12" (305

i) wide supplied compiefe with comb plate, collel adaptor and
3/8" dia. ( 9 mm) H, type collet.

This attachment is a very simple efficient device for
dovetailing two boards at right angles to each other. They are
clamped in position and suitable stops are providedfor setting.
Both the dovetail and the pin are produced at the same operation,
and the pin is rounded so that no band work is necessary.

Guide Elales and bits are available for the following pitches
. 5787, 3, 17, 15" and 137 (13 mom, 16mm, 19mm, 25mm,
32 mm and 38 mum).

SPINDLES AND ADAPTORS.

—

8. S—

STANDARD LOOSE SPINDLES :- 3", 1" or 11" dia (20mm, 25mm

Ii
ki
PITCH

PELEAR,
-

f—— |

ié’é‘
14 |

o

Note:- When ordering spare dovelail bits, please specify pitch
gize not the diameter of the bil.

STAIR HOUSING ATTACHMERNT:- This atlachment consists of
template guide roller, arm and pillar.

This attachment can be filled in a few minutes, The roller
guide which confrols the cut, s rigldly carriedon 2 solid sieel
arm from apillar and centred with the spindle. The template 18
gecured to Efalr String by means of a hand rul, The lemplate is
reveraiblets produce 3 pair of strings right and left hand withow!
regetting. Marking oul is practically eliminated and a complete
pair of strings can be cut in less time than is normally taken in
marking out.

and 30mm)available. These are for carrying standard bore cutter
blocks, slotted collars, grooving saws, etc, The spindle threads
are right hand, and all spindles are supplied with locknut and a

set of making up collars.

ol=— 1 )

SLOTTED FRENCH SPIND'LE :-For carrying one 1" (§mm) thick
cutter only, which is secured by a hardened steel set screw
Maximum recommended speed :- 4,500 rpm

COLLET TYPE ROUTER ADAPTOR :- This adaptor is supplied
in

complele with 3/8", 3" and 9/16" (9mm, 13mm, and 14mm) "H"
type collets. It enables standard router cutters to be used,

(|

ADAPTOR FOR STAIRHOUSING ATTACHMENT ;- Special adaptor
Raving 2 3/ bore [16mm] to accept both "2 iype of clothes peg
type cutter

ADAPTOR SPINDLE FOR TENONING ATTACHMENTS :- This
spindle is specially screwedfor a flugh mounted cutierhead and is
available for both the standard machine andthe overhead tenoning
attachment. These apindles with a flush mounted cutterhead are
particularly suitable for working drip grooves in sills and other
large sections as well as for use with the tenoning attachment.

27 max



CUTTER EQUIPMENT

CIRCULAR CUTTERBLCCKS :- These cutterblocks have wedge
type clamping for safety. They are smooth rumning and usedfor
facing or shallow rebates etc,

For 1" dja, work spindle :-

PLAIN SLOTTED COLLARS :- I (89mm) diameter circular cutterblock, 3" (76mm) long or 2"
N " (50mm) long,

Tor 3n (20mm) dia, work spindie :- 24" (5Tmm) dia, With§" (6m) ©  ppoiol oo ended speed i 7,000 rpm

wide slots. For 14" dia. work spindle :-

Minirsum cutting circle :- 23" (70mm)

For 1" {25mm) dia. work spindle :- 23" (64mm) dia. with $" (6rm)
wide slota

Minimum cutting cirele :- 3" (76mm}

For 11" (30mm) dia. work spindle:-3" (78mm)dia, with ' {(6mm)
wide slots

Minimum cutting circle :- 3.5/8" (92mm)

Slotted collar cuiters have many advantapges, they have a good
cutting angle, a comparatively small cutting circle and are easy
to shape, malntain and re-grind and also inexpensive, The
maximum cutter projection should not exceed 5/8" (16mm) to

' ensure maximum st rength and support.
* 24" (64mm) dia x 1" bore or $"(25mm or 20mm)boreball bearing
type slotted collars also available,

4" {102mm) diamefer circular cutterblock, 3" (76mam)long.
Maximum recommended speed :- 7,000 rpm

FLUSH MOUNTED CUTTERHEAD :-

4" (102mm) diameter with screwed bore, for use with special 4"
adaptor spindle,
For standard machine right hand thread.
For overhead tenoning attachment left hand thread.
Maxitnum recommended speed :- 7,000 rpmo.

BALL BEARING GUIDES :- Available in two sizes for 34" and 4"
cutterblocks (89mm and 101mim)

31" (89mm) dia x ' (20mm) or 1" {25mm) bore.

4.1/8" (104mm) dia x " (20mm} or 1" (25mm) bore,

TWO KNIFE WEDGE TYPE MOULDING CUTTERBLOCK

These cutterblocks are designed to take from 5/32" (4mm) to
i (6mm) thick cutters this permits tunggten carbide tipped cutters
to be used when necessary.

The cutters can be used for mouldings requiring up lo $"
{13mm) cutter projection when using 1" thick cuiters 4" (102mm)
dia x 15/16" (24mm) thick x 1"(25mm) bore Part No. QHB0,

This block uses 5/32" (¢mm) thick cutters only.

4.7/8" (124mra) dia. x 15/16" (8mm) thick x 1" (25mm)bore.Part
No. QR 11/B
4_7/8" (124mm) dia. x 15/16" (Bmm) Lhick x 13" (30mm) bore,

SQUARE CUTTERBLOCKS :~ These cutterblocks are used for 7' No- QR 1/B ) X

Tong runs, cutters working in pairs, Two or more pairs may be 4.7/8" (124mm) dia. x 13" (32mm) thick x 13" (30mm) bore. Part
mounted on a single block to build up a mould, No. QR 2

For 1" dia. (25mm) work spindle: - t ' in ; in (3G t
23" (6dmm) square x 3 (16mm) long complete with 4 - " whit :T.DT/;R (11024mm) dia. x 17" (38mm) thick x 15" (30mm)bore. Par
13mm) dovetails cutter bolts, nuts and washers, i .

Maximum recommended speed :- 4, 500 rpm, 4,7/8" {124mm) dia x 2" (50mm) thick x 14" (30mm) bore. Part
For 1{'" dia work spindle No. QR 3 -
3z" (8%9mm) square x 3" (T6mm) long complete with 4 - 5/8" whit . - , . Lu -
dovetall cutter boits, nuts and washers. 4,7/8" (124mm) dia. x 2" {50mm) thick x 13" (30mm) bore. 4 Knife

*taximum recommended speed :- 4,500 rn. m Part No. QR 86

27 max




WOBBLE SAW :-

These saws areuaed where varied widths of grooving are called
for, and where quantities are small. They are not recommanded
for quantity production or where precigion accuracy orthe highest
standard of finish is required,

6" (151mm) diameter for grooves 1/8" to 3" (3mm to 19mm)

For use on 1" apd 13" dia (25mm and 30mm) spindles.
4" (102mm) diameter for grooves 1/8" to 3" (3mm to 13mm)

For use on 3" {(20mm} dia spindles,

Maximum recommended speed. 4,500 r.p.m.

CUTTERS.

CUTTERS FOR QR BLOCKS

VZ Cutters 5/32" thick T.C.Tipped
i" oncut VZ VZ/T
1" oncut vzl VZ1/T
1i" on cut vza vz2/T
1" on cut VZ3 VZ3/T
12* on cut Vz4
2" oncut VZh V2s/1
24" on cut VZ8

3" Thick T.C, Tipped
" oncut VZ20
1" on cut VZ21 va2z21,/T
13" on cut vz22 VZ22/T
13" on cut VZ23 VZ23/T
13" on cut VZ24
2" oncut VZ25
2%" on cut VZ26
27" on cut VZ27

Router Cutters:

CUTTERS FOR STAIR HOUSING ATTACHMENT :-

Z Type and Clothes peg type 5/8" dia shank.

‘These cutters are designed to give a slightly undercat trench
and perfectly uniform wedge space. All have 5/8'" dia shank.

CUTTERS FOR SQUARE CUTTERBLOCKS
1
SLOTTED COLLARS

Rebate & Sqnare Irons
For 24" square cutterbloek :-

Bebate Irons Square Irons
Part Nos,

On Cut R.H. L.H, On Cut Part Nos.
i Q1 V2 1%" vQl3
5/8" V3 VoM 13! Q14
3r V&S vQeé Al vQ15
7/8" V@1 vQs 2in vQli6
1 vQs vQio 23 vQl17
" vqll vgle 3" vQls

For 33" square cutterblock :-

Rebate Irons Square Irons
Part Nos.

On Cut R.H, L,.H. On Cut Part Nos.
£ TB1 TB2 13 TB14
5/8" TB3 TB4 2 TB15
£ TB5 TBG i TH16
7/8"  TBY TB8 23" TB17
™ TES TB10 a3t TR18
1" TB1l1 TBI12 3 TB1Y
1" TB13 TBida

27.max




2 V=

Scotia Cutters

Tonguine and Groovine Irons

For 25" square cutterblock :-

Puart No.
Size Tonguing Grooving
Culter Cutter

1:8* Vsl ViRl
371567 V52 YR2

2 V53 VR
/16" V54 VR4
38 V5 H VR3S

For 2. dia slotted collars :-

Sieg

For 3}" square cultecblock :-
q

Part No.

Oim AL
Tonguing Groaving L
Cutter Cutter 1/8"
TV TX £
TVI TX! 33"
TV?2 TX2 i
V3 TX2 18"
TV TX4 1"

For ¥ diz siotted collars:-

e

Part No, Part No.
Tonguing Grooving Tonguing Grooving
Cutlter Cutter Cutler Cutter
BVL1 DVl vLL Vi1 Bl
BvL2 BvJz? VL2 vJ2 :;/8"
BVL] JLATS I} VL3 vl [
BYLY BVJs V4 v 53
l).,
/8"
. ____T AT
i L
L .
1.3
1%

Jvolo Cutters

For 2% Square Cutterblock

Nim A,
"

1.8
(I
58
1..
/8"
e

Part No.
OTFl
BTF2
BTF3
BTF4
BTF5
BTF&
BTF1

For 2% dia. Slotled Cutterbiock

For 25" dia. Slotted Collars

Part No,
BTHI1
BTH2
BTH3
BTH4
BTHS
BTHS
BTHT

For 31" Square Cutterbiagek

Part No.
TF1
TF?2
TF3
TF3
TF3
TF6
TE?

For 3 dia. Slotted Collars

Dart No.
THI
TH2
TH3
TH4
TH3
THE
TH7

Beading Cuticrsy
—_—

Sash Cutters

Dim A
1.3/8"
1.5/8"
1.7/8"

27 max

For 2i" sq. For 3y sq. For 2}dia Far 3" din
cutterblock  cutterblock Slotted Slottedt
Collars Cotlars
Parl No, Part Na, Pact No. Part No,
BTJ1 TJI BTL1 TL1
BTJ2 TJ2 BTL?2 TL2
BTJ1 TJ3 DTL3 TL3
DTJ4 T4 BTL+4 TL4
BTJS TJS BTL3 TLY
BTJG TJG BTLG TLG
BTJT TI7 BTL? TLT
—.
N T
For 2! sq. For 3:" sq. For 2!” dia For 1'd:a
cutterblock  cutterUlock Slotted Slotted
Collurs Colars
Part Mo, Pact No. Part No. Parl No.
BTNIL NI BTPI THht
ODTN2 T2 oTr2 TP2
0TNI Tx2 BTr] TP
OTNs TN BT TP+
DTS TN5 BTRS TrS
BTG TNG BTPG TMS
NTNT TXNT BT PY T
DTNG T~8 DT PR3 TP3
OTN9 T™~9 8Trg TP9
BTNLO TN10 BTPI0Q TPIO
BTN TN BTP11 TP
A
—L
For 2i" sq. For 3" sq. For 2¢"dia  Farl” dia
cullerblock cutterblock Slotled Slotted
Cotlars Collars
Part No. Par: No. Part No. Part No.
BTRI1 BTRHI1 BTTI TTE
BTR2 TR2 BTT2 T2
BTR2 TRI BTTZ T7T3



CUTTERS AND CUTTER $TEELS FOR SPINDLE MOULDERS

— Special grades of steel are used for making cutters for
different duties and applications on the spindle moulder. The
following is a rough guide.

A High speed steel oniron :- is used {or long life and foc cutting

hard woods. High speed steel is brittle and is usually welded Lo

l a softer steel back lor all types ol unsupportad irens. These are
: used on square cutterblocks, slotted zellars and some thin knife
moulding culterblocks. A large range of irons for the square

cutterblock and siotted collars are readily available in this stecl.

Solid high speed steel :- is more brittleand is only used where
ful! Nosing Cutters the culters are supported very closeup to the cutting edge c.g. a
thin knife on Lhe ciccular cutterblock, or where a strong section
can be used such as a milled to pattern stotled coltar cutler,

For 28" sq. For 35 sq For 23" dia  For 3" dia

cuiterblock cutterblock Slotted Slotted
Collars Collars Alloy steel on ron :« is less expensivethan high speed stecl
on iron, and is more ductile, Alley stecl is nol as hard and will
"m._'..'\ P;::}Eilo. Pva;llNo. l;:‘t,r; lNo. p\::;lll toy not stand up to heavy eulting or hard woods as well as high speed
3/8" BVF2 VF2 V2 b steel. A large range of irons for the square cutlerbtock and
o BVF] VE3 BVHI VHI slotted collars are readily avallable in this steel,
/8" BVF4 VF4 BVH4 VH4 Solid allay steel :- is normally supplied in bar form in the
1 BVFS VF5 BVHS VH5 sollcondition for culting wpby the cuslomer. Itis casily hardened
1.1/8" BVF6a VF6a BVH6a VHoGa and tempered and 15 normally used for french spindle work up Lo
137 , BVFS VFG BVHSE VHE 6, 000 rpm where cutters are held by 3 lacking screw in spindle,
13 BVF7 VF7? BVH7 VHT lecking dircet on to the side of the culter,
1 BVFE VF8 BVHSB VHE A
2 avEy VFE9 BVHS vig All the above types can be supplied inbar form, miccomeler

ground to precision limils, The alloy and allay en iren 3/16"
{Smm)x 3" (20mm)upto "' (Emm)x 3" (T6mm) in the soft conditian

- 1 and the solid high speedsteel 5/32" (4mm) x 15" {18mm) and s/32"
-T {4mm) x 2" (30mm) and high speed sieel an tron {Emm) x 14
[12mrm} and £ (Gatm) & L {3Bmim) in the head [reated condilion
- These latter bars cannot be cul with 3 tool and the Blanks should
__1 be erdered lacarrect grinding lenpthsuniessihe user has suilable
5 prinding wheel eqguipment for culling to length himsel!,

All the above cullers can bLe ground on the usual standard
grinding equipment,

1allow Nosine Cullers

Tungsten carbide Lips ;- Those are specially made far usc on

LIy " H
For 3; 5q. For 1" dia hardwnods woads with hizh silica content also plywoods and
cutterblock Stotted harduoards where High Spred Steel will nol stand up tothe aheasive
Collars action. Tt Is much mare expensive but gl ves very much loager
m A Part No. Par! No. life. A limiled range ol these cutlers {oe slatied collars and
e vnl VD1 square cullerblocks are available, Special shapes can b supplicd
5/8 vip2 vD2 Lo order.
el vRnl vDl N.B, Special diamond impregnated griading wheels and diamond
/8 VB vVDi hand caps are esscntial jor shaping and scevicing Tungsten
1 vis vD5s Carbide Tipped Tools. Theseare avatlabicbul expensive [or the
1L Vvae VD5 small user for whom we can edfer 2 tuller grinding scrvice if
1: VB VD1 requicred.
14 vBa Vo8
2 Yp9 vYD9
SHAPING CUTTERS :

When shapingculters lorany mouldon any Lype ol cullerhead
or slolted coltlars it is important that the correct allowance is
made o the depth of foem cutler.

Fig. 10 shows the prajections of Lhe culter ta produce a simple
Febate. Forexampleusing the 34" square cutlerblock, to produce
a 1" {25mm)} deep rebalethe cutter muse have a depth of fore of
1.3/ 16" [30mm) this being due to theancle at which the eutler
sirikes the work on the line “"AA™. When 4 shaped mould is
required tobe cut itis ACcessary Lo plot out the form ol Lhe cutter;
this is shown in fig. 11,

are Edre Cutters It 1% impartant whea sclecling bianks from which to make the

Cut For 25" dia For 1" dia cotler that they have the minimum NECESSATY averhang, Alse a

Slotted Slolted blank as near the shape and width as passivle should be solecled
Collars Collars s0 that there will be less waste and less change of overheating

e B_‘-"Nl__— B cutters when grinding,

i BVN?2 VN2 The minimum cutiiag ciccle (5 fixed o give the AoCessary

é BVN1 VN3 clearance lor the ball head when working with straight irans anly,

R BV N¢ VN4 - i § i

ER BYNS VNS The culting an_gl.c- which i5 normally 359 is shown 3t "B, in

5 E o fig. 10 andthe culling and the Culting angle at “C* this anple varje:

i s b with the size of the cutterilock and the depth af the maould

BVNB VINE

i BVNS VNG

) BVN10 VNI10

27.max




'

ROTATIDN

pr
(T3

\ J—;' s’f

-

7
5 0ra miMyM CU ) Tveg CIRCHE

ACTUAL DEPTH OF Fes OF £U] IR

FIG. 1D

CORRECT FGam QF
cyirea

OF wOwnD

o
c [E ACTUAL SHaPE
Lt

SOuUsBL
S0k

bl g ma DL F Dy

R

L= ¥al 3

AaCIUAL Sadg

OF QUi 0 _I_

To olbtain the correctculter form lor a shaped mould, without
usiny the moulders rule, itisnecessacy toplot this out 45 shown.

First the square block and cutter 2t minimurn culling carele
arc drawnoulat Y in fiz. 11, The radius of the mipimum cutting
circle is drawn around to the centee line and divided up by Lhe
lines A, B.C.D and E, 1ato cither /16" (2man) ac LS {Jorm }
According te Lthe cize and intricacy of Lhe shape, Lhese lings aro
then struck round fram the centre tine radially Lo the {ace of {he
culter,

At "X the lines AL, DI . CL DL, and El arccarricdicrossas
shown, alsp al "W the mould 1s produced exactly as at "7 and
divided up the same, the hines 1, 2,3,4 and 3 which are frow the
points where {ines A, B, C, etc. inlersect the edye of the muuld,
1ce then drawn across to "X™ thus EL is cul by 1Dt by 2. o
The points of intersection are joned as shown Lhus giving the
correct projected [orm of Lhe culter,

This takesupconsiderable lime to do [or each shapeof culters
required, and can be very much reduced by using the moulder's
rule as shown in (ig. 12.  This is a graph on whichthe {orm can
be plotted and automatically gives the necessary allawance onthe
depth of [orm,

When the mouldistobe 2 standard, atemplate should be made
lo the projected [orm to which the culters can be Shaped whenthe
job repeats., This will ensure uniformity on all future runs.

MOULDERS RULE

A permanent moulder’s ryle can be made by the customer in
sheet brass and aluminium and will then be kandy for use 1n the
workshop,

To plot the form of 4 cutter by use of the moulder's rule it is
Recessary todraw the full sizs shape of the mould onlraciny paper
and rule /8" (Jmm) squares as shown in fte_ 122, This is then
placed alongside Lhe moulder's rule ang projecled across, this
will give a series of dots which must be joined to Cive the foem of
the cutter, The culter blank chosen must be wide enough (o Zive
it least L8 (3mm) overlap beyond the edze of the mould. The
depth of lorm of the culter for the same mould var|es slightly
when used on a 33" (89mm) or 24" (64mm) square cutterblock due
o-the dilferent cutling diamelers, Moulder's sules are reguired
ler eachsizeol square black, Thecutters zre nolinterchangeable
from one sizeof cutterblock to anather If 2 really accurate mould
L8 required,

27 max

# r.! 4

a g

L FIGII[
r":l"’l;s/i'.'n"':l

|

e e————— = .
/_,/| L ' s
! & [l ‘o !f
: [ -
| =
f =
" ‘{ .
g i
J_ | z' i
r
1
!
wULOERS SAf i ! i
] ]
7T 11 ACTUay wDULD ™ T
T 1 [} =T+ T
L] I | Tk T
- m
L3
\:x"' T = — 1
T ' L ]
I | 1 o TR
| 11 <
I Tig, T i
L1 | EErE ] [
a 3 a3 a4 i L]
POOMLCEED o
aF CUTIED FeG L2a
=) \
FACIECTED T
|:',|"E|I
FRILCTLOD
FiG 12




